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Pair Production - A photon passing by a mass (nucleus, or electron) spontaneously creates a matter-anti matter pair.
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Photon energy = Energy to create matter + Kinetic energy of pair
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Example 1:  What energy photon (in MeV) is needed to create a electron-positron pair each with a kinetic energy of 0.34 MeV?  What is the wavelength of that photon?










Example 2:  A 0.00025 nm photon creates a electron-positron pair.  What is the kinetic energy of each particle? 




Whiteboards:
	1. A photon creates a electron-positron pair each with a kinetic energy of 0.170 MeV.  What is the energy of the photon?  (in MeV)  (1.362 MeV)
	2. A 2134 MeV photon creates a proton, antiproton pair, each with how much kinetic energy? 
(129 MeV)

	3. A photon with a wavelength of 5.27113x10-13 m creates a electron-positron pair with how much kinetic energy each? (answer in keV)  (666 keV )  (heheheheh)
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Electron rest mass me 9.110 x 10—3tkg = 0.000549 u=0.511 MeV c2
Proton rest mass m 1.673 x 10-27kg =1.007276 u = 938 MeV c2
Neutron rest mass my, 1.675 x 10-27kg =1.008665 u = 940 MeV c2

Unified atomic mass unit u 1.661 x 10-27kg = 931.5 MeV c2




